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QUESTION 1

What are the wavelengths of the OSC channel used by the ST2 board? 

A. 1510nm 

B. 1491nm 

C. 1511nm 

D. 1471 nm 

Correct Answer: C 

 

QUESTION 2

Which of the following protection schemes require the APS protocol? 

A. ODUk SPRing protection 

B. ODUk SNCP 

C. SW SNCP 

D. 1:1 optical line protection 

Correct Answer: A 

 

QUESTION 3

Which of the following ROADM boards have WSS optical modules? (Choose two.) 

A. RDU9 

B. WSM9 

C. WSMD9 

D. WSD9 

Correct Answer: BD 

 

QUESTION 4

Which of the following is not a precaution after board replacement? 

A. Record the settings of jumpers and DIP switches on the board. 

B. For functional units that have backups, check whether the switchover is normal. 
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C. Check the indicator blinking status of the board and ensure that the board works properly. 

D. Ensure that no abnormal alarm. 

Correct Answer: B 

 

QUESTION 5

Which of the following is not included in an ASON network? 

A. ASON Domain 

B. ASON NE 

C. SC 

D. TE Link 

Correct Answer: C 

 

QUESTION 6

Which of the following statements about the line fiber quality monitoring performance parameters is wrong? 

A. The pulse width of emitted optical pulses varies according to monitoring modes, and affects the detection distance
and measurement precision. A greater pulse width provides a larger dynamic range, longer detection distance and
better measurement precision. 

B. When the pulse width increases, the light emitting time increases and consequently a larger energy is obtained. This
means that a larger dynamic range can be acquired but also larger dead zones will result. 

C. Measurement is performed multiple times within the detection time. The average value is obtained based on the
measurement result to improve the measurement precision. The actual duration from the time when a detection event
starts to the time when the detection results are returned will be longer than the Detection time. 

D. The total fiber loss will affect the detection distance and dynamic range is fixed for the same detection mode.
Therefore, a larger total fiber loss indicates a smaller detection distance. 

Correct Answer: A 

 

QUESTION 7

MPLS APS is a network protection mechanism. It implements service switching by using the MPLS OAM detection
function. 

A. True 

B. False 

Correct Answer: A 
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QUESTION 8

Before querying bit errors and optical power on the U2000, you need to perform the () operation. Otherwise, the
corresponding data cannot be queried. 

A. Enabling the NE Performance Monitoring Time 

B. Creating the logical fiber 

C. Synchronizing NE data 

D. Configuring data 

Correct Answer: C 

 

QUESTION 9

Which of the following OTN trails does not need to be manually configured on an ROADM site, and can search out
directly? 

A. OSC 

B. OCh 

C. OMS 

D. OTS 

Correct Answer: B 

 

QUESTION 10

Which of the following Optical NE types are defined in U2000? 

A. WDM_OEQ 

B. WDM_OTM 

C. WDM_OLA 

D. WDM_OADM 

Correct Answer: A 
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